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English Version :

Answer any ten questions of the following :

a)
b)
c)
d)
e)
f)
9)
h)
i)
)
K)

What is an iso-utility curve?

Indicate any one similarity between monopolistic competition and perfect competition.
Distinguish between short-run and long-run in production.

Distinguish between fixed and variable costs of production.

Mention four features of perfect competition.

Write two causes for emergence of monopoly.

State the law of variable proportion.

What is opportunity Cost?

Define 'inferior good'.

What is Price Consumption (PCC) curve?

What is an iso-quant?

Indicate the shutdown point of production of a firm under perfectly competitive market.
Mention two features of oligopoly.

What is collective bargaining?

Distinguish between gross profit and net profit.

Answer any three questions of the following :

a)
b)
c)
d)

"Two indifference curves cannot cut each other". Do you agree? Why?

What is the role of a Trade Union?

Mention the necessary and sufficient conditions for producer’s equilibrium.

What do you mean by Production Function? Explain the concepts of total production
(TP), average production (AP) and marginal production (MP) with the help of a
diagram.

What are the features of a perfectly competitive market?

(2)

(b +3)

(o +9)

(s0)
(s0)

(10 x 2)

(3x9)
(2+3)
(5)
(5)

(1+4)
()



Answer any four questions of the following : (4 x 10)
a)  Explain with the help of a diagram the decomposition of price effect into income effect

and substitution effect. (10)
b)  Why is the short-run average cost (SAC) curve U-shaped? (10)
c) Explain the short-run equilibrium conditions of a firm under perfectly competitive

market. Can a firm continue production in the short run though the firm incurs losses? 8+2)
d) What is meant by price discrimination under monopoly? Explain the process of

determining? Explain the process of determining short-run equilibrium output of a

monopoly firm. 3+7)
e)  Show that the long-run average cost (LAC) curve is an ‘envelope' of different short-run

average cost (SAC) curves. (10)
f)  Explain the modern theory of rent. (10)
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